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QUESTION 1

A service inventory architecture is designed to accommodate the composition and recomposition of services.
A. True

B. False

Correct Answer: A

QUESTION 2
Which of the following statements about the application of the Policy Centralization pattern is true?
A. Service agents can check for policy compliance at runtime.

B. A policy framework that supports both the definition of policies and their consistent runtime enforcement is essential
to meeting the goals of the Policy Centralization pattern.

C. Enterprise service bus products sometimes use proprietary policy formats which can lead to vendor lock-in and
incompatibilities with other enterprise service bus products.

D. All of these statements are true.

Correct Answer: D

QUESTION 3

Load balancing is commonly associated with which pattern?
A. Atomic Service Transaction

B. Intermediate Routing

C. Service Broker

D. Decoupled Contract

Correct Answer: B

QUESTION 4

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters.

A. True
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B. False

Correct Answer: A

QUESTION 5

The Asynchronous Queuing pattern can be combined with the Event-Driven Messaging pattern to allow a service
consumer acting as a subscriber to receive all event notification messages that are broadcast, even those that are sent
when the service consumer is unavailable.

A. True

B. False

Correct Answer: A

QUESTION 6
Which of the following statements are true?

A. The application of the Rules Centralization pattern centralizes the governance of business rules so that they can be
modified and evolved from a single location.

B. The application of the Rules Centralization pattern reduces redundancy by centralizing common business rules-
related logic that would normally be distributed across multiple services.

C. The application of the Rules Centralization pattern results in centralized business rules that can be applied at
runtime.

D. The application of the Rules Centralization pattern can lead to a decrease in autonomy because it can introduce the
need for an additional service to be part of service compositions.

Correct Answer: A

QUESTION 7

Governance can become an issue with service agents because:

A. You will need to determine who will own and maintain the service agents.

B. Changes to a single service agent can impact multiple services throughout a service inventory.
C. Service agents need to be versioned, just like services.

D. All of the above.

Correct Answer: D
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QUESTION 8

Technical service contracts that use the same XML schemas will support the exchange of messages based on the
same data models.

A. True
B. False

Correct Answer: A

QUESTION 9

Which of the following statements about the subscriber role established by the application of the Event-Driven
Messaging pattern is true?

A. a service can have multiple consumers as subscribers
B. a consumer can only subscribe to one service

C. a service can only have one consumer as a subscriber
D. All of these statements are true.

Correct Answer: A

QUESTION 10
The Reliable Messaging pattern requires:

A. the use of standardized service contracts in order to enable message atomic transaction details to be carried in the
message header

B. a framework for temporarily persisting messages and issuing acknowledgements
C. the application of the Official Endpoint pattern in order to enable acknowledgement features

D. a framework capable of bridging disparate messaging protocols in order to exchange schemas between compatible
services

Correct Answer: B

QUESTION 11

A service fa?ade component can be used to abstract the part of a service architecture that has negative coupling
potential.
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A. True
B. False

Correct Answer: A

QUESTION 12

The use of the Intermediate Routing pattern typically results in:

A. common routing logic being removed from service logic and placed into service agents
B. common routing logic being removed from service agents and placed into a database
C. common routing logic being physically centralized into a single service

D. common routing logic being physically centralized into a single service composition

Correct Answer: A

QUESTION 13

Which of the following statements about the Schema Centralization pattern does not make sense?

A. Up-front analysis effort is required to establish a schema layer independent of and in support of the service layer.
B. Schemas can be designed and implemented independently from the service capabilities that utilize them.

C. Multiple technical service contracts can make reference to a single schema.

D. Services in the same service inventory cannot share the same schemas.

Correct Answer: D

QUESTION 14

The Protocol Bridging pattern addresses problems that occur when services using different transport protocols or
different versions of the same transport protocol try to communicate.

A. True
B. False

Correct Answer: A
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QUESTION 15

A typical service-oriented enterprise architecture specification can encompass:
A. only one service inventory

B. multiple service inventories

C. non-service-oriented technology architectures

D. None of the above.

Correct Answer: B
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